are the mean and standard deviation of
distribution ?

SECTION - D

8. Fit a Poisson distribution to the following data and
test the guodnvsa of fit by Chi square test

T T T

Ex 0 | 1 | 2 | 3 | 4 5 |
| f 6 13 l 13 8 L_,‘* _BW

subject to 2x; + 3x, + 5x, 22

3x;+x, +7x45 <3,
X, +4x, +6x5 <5,

Xy, X,Xq 20

by using dual simplex method.
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Note: Attempt five questions in total, selecting omne

questions from each Section. Question No. 1 is
compulsory.

1. (a) Obtain co-efficient ay of the Fourier series for’
flx) = |cosx] ;—-n<x<m.

{(b) Write C.R. equations in polar form.

(¢} Define Residue at a pole,

24022-13050-(P-4)(Q-9)(17) P.T.O.
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" (d) Write the dual of the LPP :

2. ()

(b)

3. (a)

Sfx)=

Ma)(i[n.ize Z = 10x1+ 132(72 ‘+ 19x:;‘,

subject to 6x; + 5x2 +3x5 <26,

4x, +2x,+5x3 <7,
Xi,Xp,X320
SECTION-A"

Give an example of full recnﬁed wave form and

hence obtain the Fourier series expansion for the
- same.

'Obtain half range cosine series for

: T
X ;0<x<—
A

T '
M—X;,—<X<T
2 B

-Using Fourier integral representation, show that_.

2

08 X . - -
B FC 5 mdnge Y x>0,

(b)

 f= {

4 '(a).

w=1u+iv,

1+o _
Find the Fourier sine iransfor__m of
sinx,0<x<a
,X>a

SECTION-B
Determine the analytic function :

ifu= P sin(x? —'y'z).

24022-13050-(P-4)Q-9)(17)  (2)

(b)

-Evaluate iE——

Separate into real and i mag1nary parts .
log Sm (x +1y).

32 +z . -~ .
n dz, where ¢ is the circle
z° - . .

- lz-1] =1

6 ()

(b)

7. (a)

(@)

‘Evaluate J-(z z%) dz, where c is the upper half of

the circle |z|=1. What is the value of this mtegral
ifcis. the Iower half of above circle ? - '

SECTION - C
Evaluate the integral : |
Iz-1)2%(z+2)

theorem.

dz, where c; |Z|—g by residue

Evaluate E P wherea > |b].

A factory has two machines A and B. Past record
shows that machine A produced 60% of the items
of output and machine B produced 40% of the
items. Further, 2% of the items produced by
machine A were defective and 1% produced by

machine B were defective. T a defective item is

drawn at random, what is the probability that it
was produced by machine A ?

F.2

In a distribution, lexactly ‘normal 9.85% of the

~ items are under 40 and 89.97% are under 60. What

" 24022-13050-(P-4)(Q-9)(17) (3)  P.T.O.
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